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2. Big Steel is considering making a bid for Small Steel. The following data applies to the
analysis:

Big Steel Small Steel
Pre-merger stock price §75 $100
Pre-merger market value $37.500m $4,000m
Estimated synergies $600m

If Big Steel buys Small Steel by exchanging 1.45 shares of its stock for each share of Small
Steel, what are the gains to Big Steel and Small Steel, respectively? (10 4+)

3. A two-year zero-coupon bond issued by corporate XYZ is currently rated A. One year from
now XYZ is expected to remain at A with 85% probability, upgraded to AA with 5%
probability, and downgraded to BBB with 10% probability. The risk free rate is flat at 4%,
The credit spreads are flat at 40, 80, and 150 basis points for AA, A, and BBB rated issuers,
respectively. All rates are compounded annually. Estimate the expected value of the
zero-coupon bond one year from now (for USD 100 face amount). (104")

4. A portfolio manager returns 12% with a standard deviation of 20%. The benchmark returns
8% with a standard deviation of 12%. The correlation between the two is 0.9. The risk-free
rate is 4%. What are the Sharpe ratio and the information ratio of the portfolio? {10 4~)

5. Two 10-year bonds are being considered for an investment that may have to be liquidated
before the maturity of the bonds. The first bond is a 10-year premium bond with a coupon rate
higher than its required rate of return, and the second bond 15 a zero-coupon bond that pays
only a lump-sum payment after 10 years with no interest over its life. Which bond would have
more interest rate risk? That is, which bond’s price would change by a larger amount for a
given change in interest rates? Explain your answer. (10 53+)
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